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r3=0.82 h4=2.3569-

V4 =V1+V2+V3+(3.14%0.82%0.82*h4)
= 0.04289+0.1191+0.1284+2.113*h4
= 0.2904+2.113%h4

r3=0.82 h3=0.15

r2=0.67

V3 =V1+V2+[3.14*h3%(0.82+0.82+0.15+0.15+0.82+0.15) /3]
= 0.0429+0.1191+0.8561*h3
=0.162+0.8561+h3

r2=0.67 h2=0.0845

V2 =V1+ (3.14+0.67+0.67+h2)
= 0.0429+1.4095%h2

r2=0.67 h1=0.0845

r1=0.05

V1 =3.14+h1* (0.67+0.67+0.05+0.05+0.67*0.05) /3
=0.5075%h1
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r3=0.67 h4=2.0069-

V4 =V1+V2+V3+(3.14*0.67*0.67*h4)
=0.0129+0.0829+0.1676+1.4095+xh4
=0.2634+1.4095*h4

r3=0.67 h3=0.15

r2=0.52

V3 =V1+V2+[3.14+h3%(0.67+0.67+0.52+0.52+0.67%0.52) /3]
=0.0129+0.0829+1.1176*h3

=0.0958+1.1176%h3

r2=0.52 h2=0.0976

V2 =V1+ (3.14+0.52+0.52%h2)
=0.0129+0.849xh2

r2=0.52 h1=0.0411

r1=0.05

V1 =3.14xh1* (0.52+0.52+0.05+0.05+0.52*0.05) /3
=0.3128+%h1
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r3=0.64 h4=1.9651-

V4 =V1+V2+V3+(3.14%0.64%0.64*h4)

=0.0095+0.0506+0.1657+1.2864+h4
=0.2258+1.2864xh4

r3=0.64 h3=0.17

r2=0.47

V3 =V1+V2+[3.14*h3%(0.64+0.64+0.47+0.47+0.64+0.47) /3]
=0.0095+0.0506+0.9748*n3
=0.0601+0.9748+h3

r2=0.47 h2=0.0737

V2 =V1+ (3.14+0.47+0.47+h2)
=0.0095+0.6936%h?2

=3.14*h1x (0.47+0.47+0.04+0.04+0.47+0.04) /3



